
SAP ABAP table ROIKLOAD {TAS:  Loading related data from depot}

ROIKLOAD

CLIENT [CLNT (3)]

LIDTYPE [CHAR (6)]

MMDOCNR [CHAR (10)]

MMDITMNR [NUMC (5)]

TASGRP1 [CHAR (8)]

TASGRP2 [CHAR (8)]

FUNCGROUP [CHAR (6)]

SOLDTO [CHAR (10)]

SHIPTO [CHAR (10)]

VSTEL [CHAR (4)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

MATKL [CHAR (9)]

MATNR [CHAR (18)]

OIHANTYP [CHAR (2)]

TPLST [CHAR (4)]

VEHICLE [CHAR (10)]

DRIVERCODE [CHAR (10)]

BWTAR [CHAR (10)]

SHIFT [CHAR (1)]

OIC_MOT [CHAR (2)]

VSBED [CHAR (2)]

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 ROIKLOAD-MMDOCNR = EKKO-EBELN 

0..N

0..N

EKPO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

 ROIKLOAD-MMDITMNR = EKPO-EBELP 

0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROIKLOAD-SHIPTO = KNA1-KUNNR 

0..N

0..N

 ROIKLOAD-SOLDTO = KNA1-KUNNR 0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIKLOAD-MATNR = MARA-MATNR 
0..N

0..N

MCHB

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

 ROIKLOAD-CHARG = MCHB-CHARG 
0..N

0..N

OIGD

CLIENT [CLNT (3)]

DRIVERCODE [CHAR (10)]

 ROIKLOAD-DRIVERCODE = OIGD-DRIVERCODE 
0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 ROIKLOAD-VEHICLE = OIGV-VEHICLE 
0..N

0..N

OIH5

MANDT [CLNT (3)]

HANTYP [CHAR (2)]

 ROIKLOAD-OIHANTYP = OIH5-HANTYP 
0..N

0..N

OIKLT

CLIENT [CLNT (3)]

LIDTYPE [CHAR (6)]

CONTRTYP [CHAR (1)]

 ROIKLOAD-LIDTYPE = OIKLT-LIDTYPE 0..N

0..N

T000

MANDT [CLNT (3)] ROIKLOAD-CLIENT = T000-MANDT 0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 ROIKLOAD-LGORT = T001L-LGORT 
0..N0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROIKLOAD-WERKS = T001W-WERKS 

0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 ROIKLOAD-MATKL = T023-MATKL 

0..N

0..N

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 ROIKLOAD-BWTAR = T149D-BWTAR 

0..N

0..N

TOIGH

CLIENT [CLNT (3)]

SHIFT [CHAR (1)]

 ROIKLOAD-SHIFT = TOIGH-SHIFT 

0..N

0..N

TOIKLIDG

CLIENT [CLNT (3)]

LIDGROUP [CHAR (6)]

 ROIKLOAD-FUNCGROUP = TOIKLIDG-LIDGROUP 

0..N

0..N

TOIKTGRP

CLIENT [CLNT (3)]

TASGROUP [CHAR (8)]

 ROIKLOAD-TASGRP1 = TOIKTGRP-TASGROUP 

0..N

0..N

 ROIKLOAD-TASGRP2 = TOIKTGRP-TASGROUP 

0..N

0..N

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 ROIKLOAD-TPLST = TTDS-TPLST 

0..N

0..N

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 ROIKLOAD-VSBED = TVSB-VSBED 

0..N

0..N

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 ROIKLOAD-VSTEL = TVST-VSTEL 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 ROIKLOAD-OIC_MOT = TVTR-VKTRA 

0..N

0..N


